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Part A

Test 1

Directions: In this section , you will hear 10 short conversations. At the end of each conversa-

tion, a question will be asked about what was said. Both the conversation and the question

will be spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D), and decide which is the best an-

swer . Then mark the corresponding letter on the Answer Sheet with a single line through the

centre .

Example: You will hear: M: Is it possible for you to work late, Miss Grey?

W: Work late? I suppose so, if you really think it’s necessary.

Q: Where do you think this conversation most probably took place?
You will read : A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.

From the conversation we know that the two were talking about some work they had to
finish in the evening. This is most likely to have taken place at the office. Therefore, A)
“At the office” is the best answer. You should choose [ A on the Answer Sheet and mark it

with a single line through the centre.

1. A) He got on the train.
B) He missed the train.
C) He got up early.
D) He did not get up.
2. A)He saw the new teacher.
B) He met the new teacher.

C) The new teacher was ill.

D) He didn’t see the new teacher.

3. A) The man will go out.
B) The woman will be away.
C) They will have a meeting.
‘D) They will go shopping.

4. A) 8 hours.
B) 9 hours.

Sample Answer fA3[B] [C] [D]



C) 5 hours.
D) 6 hours.
. A) Patient and doctor.
B) Waitress and diner.
C) Wife and husband.
D) Secretary and boss.
. A) China.
B) The United States.
C) England.
D) We are not sure.
. A) By bus.
B) By bike.
C) By walking.
D) By car.
. A) Watching TV.
B) Sleeping.
C) Listening to the radio.
D) Reading.
. A) The man has eaten more than the woman.
B) The woman wants to eat it herself.
*C) The man should not eat any more.
D) The man should eat more.
10. A) The bus was late.
B) She didn’ t catch the bus.
C) The class started earlier.

D) She got up late.

Part B

Section A

Directions: In this section, you will hear 3 short passages. At the end of each passage , you
will hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question , you must choose the best answer from the four choices marked A), B),

C), and D). Then mark the corresponding letter on the Answer Sheet with a single line
through the centre .

Passage 1
Questions 11 — 13 are based on the passage you have Just heard :

11. A) Something was wrong with her back.
2



12.

13.

B) Something was wrong with her foot.

C) Something was wrong with her heart.

D) Something was wrong with her head.

A) He listened to her voice.

B) He listened to her heart.

C) He asked her to stop smoking.

D) He asked her to stop eating potatoes.

A) The doctor wasn’t a good doctor.

B) Mrs. White was often having trouble with her heart.

C) Heart disease is a serious illness.

D) Mrs. White didn’t like to drink or smoke.

Passage 2
Questions 14 — 16 are based on the passage you have just heard :

14.

15.

16.

A) The loveliest one.

B) The most traditional one.

C) The longest one.

D) The busiest one.

A) Attend church.

B) Enjoy a huge dinner.

C) Buy gifts.

D) Entertain friends.

A) How Christmas comes into being.
B) How Americans celebrate Christmas.
C) What Christmas is.

D) Why people celebrate Christmas.

Passage 3
Questions 17 — 20 are based on the passage you have just heard :

17.

18.

19.

A) An English school in England.

B) An English school in Rome.

C) An English school run by Germans.

D) An English school in London.

A) She was German, but she was younger than Mary.

B) She was not English, but she was as old as Mary.

C) She was from Germany, but she was older than Mary.
D) She was English, but she was as tall as Mary.

A) The new girl laughed like an English girl.

B) The new girl spoke English like an English girl.



C) The new girl laughed at an English girl.

D) The new girl laughed in English class.
20. A) Funny.

B) Stupid.

C) Good-natured.

D) Pretty.

Section B Compound Dictation

Directions: In this section , you will hear a passage three times. When the passage is read for
the first time, you should listen carefully for its general idea. Then listen to the passage
again. When the passage is read for the second time, you are required to fill in the blanks
numbered from Sl to S7 with the exact words you have just heard. For blanks numbered
Jrom S8 to S10 you are required to fill in the missing information. You can either use the ex-
act words you have just heard or write down the main points in your own words. Finally,

when the passage is read for the third time, you should check what you have written .

Once there lived an old man in a town. He always (S1) a lot of things, so his
wife always had to say to him, “Remember this.”

One day he went on a long (S2) alone. Before he went out, his wife said,
“Now you have all these things. Take care (S3) them.” He went to the station,
bought a ($4) and got on the train with it.

About an hour later, the conductor came to the old man and said, “Will you (S5)
show me your ticket?” The old man looked for his ticket in all his pockets, but he

couldn’t find it. He was (S6) . “I can’ t find my ticket. I really bought a ticket
(S7) ___ I got on the train”, said the old man.
“(S8) . All right. You don’t have to buy another

one,” said the conductor. But the old man still looked worried and said, “(S9)

If I can’ t find my ticket, I don’t remember my station. (SI0)
?7,




Test 2

Part A

Directions: In this section , you will hear 10 short conversations. At the end of each conversa- ’
tion, a question will be asked about what was said. Both the conversation and the question
will be spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D), and decide which is the best an-
swer. Then mark the corresponding letter on the Answer Sheet with a single line through the
centre .
Example: You will hear: M: Is it possible {for you to work late, Miss Grey?

W: Work late? I suppose so, if you really think it’s necessary.

Q: Where do you think this conversation most probably took place?

You will read : A) At the office.
B) In the waiting room.
C) At the airport.

D) In a restaurant.

From the conversation we know that the two were talking about some work they had to
finish in the evening. This is most likely to have taken place at the office. Therefore, A)
“At the office” is the best answer. You should choose [ A] on the Answer Sheet and mark it

with a single line through the centre .

Sample Answer TA3[B] [C] [D]

1. A) Tom never smokes.
B) Tom has given up smoking.
C) Tom is smoking.
D) She wants to see Tom.
. A) Her job is difficult.
B) Her job is not interesting.
C) She doesn’ t know how to do her job.
D) She doesn’t think it is hard work.
3. A) She wants to borrow the dictionary.
B) He shouldn’t use the word.
C) He should look up the word in the dictionary.

o

D) He has not a dictionary.
4. A) Sheis ill.
B) She is hungry.



C) She doesn’t know the medicine.
D) She doesn’t take the medicine.
. A) Teacher and student.
B) Doctor and patient.
C) Boss and secretary.
D) Father and daughter.
. A) In a store.
B) At the station.
C) In a hospital.
D) In an office.
. A) Yes, he did.
B) No, he didn’t.
C) He is not sure.
D) We are not sure.
. A) They are reading English.
B) They are having a meeting.
C) They are making a phone call.
D) They are practising English.
. A) That he wants something to eat.
B) That he will tell them.
C) That he is not hungry.
D) That he is not angry.
10.A) At 10:30.
B) At 10:00.
C) At 11:00.
D) At 9:43.

Part B

Section A

Directions: In this section , you will hear 3 short passages. At the end of each passage, you

will hear some questions .

Both the passage and the questions will be spoken only once. After

You hear a question , you must choose the best answer from the four choices marked A), B) ,

C)

through the centre .

Passage 1

, and D). Then mark the corresponding letter on the Answer Sheet with a single line

Questions 11 — 13 are based on the passage you have just heard

11. A) To see who was the happiest.
6



12.

13.

B) To see who was the most beautiful.

C) To see who was the biggest.

D) To see who was the ugliest.

A) The next evening.

B) Late that day.

C) Early the next morning.

D) Late the next day.

A) Because he wants the snake to return his crown.
B) Because he is hungry.

C) Because he is thirsty.

D) Because he wants to wake his master up.

Passage 2
decade: +4F
Questions 14 — 16 are based on the passage you have just heard :

14.

15.

16.

A) There are nearly 70 million bikes in the U.S. today.
B) The cars have taken the place of the bikes.
C) People worry about air pollution.

D) People began to like bikes again.

A) In about 1800.

B) In about 1850.

C) In about 1900.

D) In about 1930.

A) The bike is enjoying a new revival( & 3%).
B) The bike is creating traffic problems.

C) The bike is popular only with children.

D) The bike is taking the place of the car.

Passage 3
Questions 17 — 20 are based on the passage you have just heard :

17.

18.

19.

A) A house. B) A horse.

C) A cat. D) A car.

A) To prove that his neighbour was not honest.
B) To amuse the police officer.

C) To test whether the horse was blind.

D) To test whether the horse was strong.

A) The horse would be killed.

B) The horse would be sold.

C) The horse would be sent to the police officer.



D) The horse would be returned to Washington.
20. A) The police officer was very clever.

B) The neighbour was very clever.

C) Washington was very clever.

D) The horse was very clever.

Section B Compound Dictation

Directions: In this section , you will hear a passage three times. When the passage is read for
the first time, you should listen carefully for its general idea. Then listen to the passage
again. When the passage is read for the second time, you are required to fill in the blanks
numbered from Sl to S7 with the exact words you have just heard. For blanks numbered
from S8 to S10 you are required to fill in the missing information. You can either use the ex-
act words you have just heard or write down the main points in your own words. Finally,
when the passage is read for the third time, you should check what you have written .

[ have a friend. He has a large police dog (S1) Jack. Police dogs are clever. Ev-
ery Sunday afternoon my friend takes Jack for a long walk in the (S2) . Jack likes
these long (S3) _ very much.

One afternoon a young man came to visit my friend. He ($4) a long time. He
talked (S5) _ talked. Soon it was time for my friend to take Jack for his walk. But the
visitor (S6) _ stayed. He forgot (S7) _ was Sunday. (S8)

. He walked around the room several times and then sat
down just right in front of the visitor and looked at him. (S9) . At
last Jack could stand it no longer. (S10) . He sat down and

looked at the visitor again, but this time he held the visitor’s hat in his mouth.



Test 3

Part A

Directions: In this section , you will hear 10 short conversations. At the end of each conversa-
tion, a question will be asked about what was said. Both the conversation and the question
will be spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A ), B), C) and D), and decide which is the best an-
swer. Then mark the corresponding letter on the Answer Sheet with a single line through the
centre.
Example: You will hear: M: Is it possible for you to work late, Miss Grey?

W: Work late? I suppose so, if you really think it’s necessary.

Q: Where do you think this conversation most probably took place?

You will read : A) At the office.
B) In the waiting room.
C) At the airport.

D) In a restaurant.

From the conversation we know that the two were talking about some work they had to
finish in the evening . This is most likely to have taken place at the office . Therefore, A)
“At the office” is the best answer. You should choose [ A on the Answer Sheet and mark it

with a single line through the centre .

Sample Answer TA1[B] [C] (D]

1. A) Physicists.
B) Teachers.
C) Physicians.
D) Students.
2. A) The man was ill.
B) The woman was ill.
C) The man went abroad.
D) The woman went abroad.
3. A) Mike is the best one.
B) Only Mike himself thinks so.
C) Mike is better than others.
D) Others think Mike is the best one.
4. A) Talk with the man.
B) Make some hot tea.



C) Ask another question.
D) Have a cup of tea.
5. A) Friends.
B) Husband and wife.
C) Colleagues.
D) Teacher and student.
6. A) At a school.
B) In a hospital.
C) At a restaurant.
D) In the office.
7. A) No, they won’t.
B) Yes, they will.
C) Peter will go but John won’t.
D) John will go but Peter won’t.
8. A) He finds them extremely beautiful.
B) He likes the fresh flowers best.
C) He has just got a rise in salary.
D) He wants to give them to someone as a gift.
9. A) Stay at home.
B) Go to the park.
C) Go to the museum.
D) Go to the concert.
10.A) 7:00.
B) 7:30.
C) 8:00.
D) 8:30.

Part B

Section A

Directions: [n this section , you will hear 3 short passages. At the end of each passage, you
will hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question , you must choose the best answer from the four choices marked A), B),

C), and D). Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.

Passage 1
typesetter: HEF T

Questions 11 - 13 are based on the passage you have just heard:
10



11.

12.

13.

A) Mark Twain’s short stories.
B) Mark Twain’s family.
C) Mark Twain’s life.

D) Mark Twain’s travels.
A) Typesetter.

B) River pilot.

C) Soldier.

D) Publisher.

A) From his birthplace.
B) From the Mississippi.
C) From his travels.

D) From other writers.

Passage 2
Questions 14 — 16 are based on the passage you have just heard :

14.

15.

16.

A) Because he could buy cheap food.

B) Because he wanted to go to office early every day.

C) Because he was tired of living in the big city.

D) Because he had a relative in the country.

A) Because the house was not expensive.

B) Because the house was in a quiet place.

C) Because he wanted to meet the house agent.

D) Both A) and B).

A) Mr. Brown thought the house was not in a quiet place.
B) Mr. Brown found a house in the country.

C) Mr. Brown found a house in the big city.

D) Mr. Brown thought the house agent was telling a lie in the ad.

Passage 3
Questions 17 — 20 are based on the passage you have Just heard ;

17.

18.

19.

A) In the morning.

B) At noon.

C) In the afterncon.

D) In the evening.

A) Everyone at his school liked him.

B) No one at his school liked him.

C) Some people at his school didn't like him.
D) Some people at his school liked him.

A) Because he thought he was too weak.

11



B) Because he thought he was a headmaster.

C) Because he thought he was too old to change.

D) Because he didn’t like his teachers and pupils.
20. A) A teacher.

B) A student.

C) A bus driver.

D) The headmaster.

Section B Compound Dictation

Directions: In this section , you will hear a passage three times. When the passage is read for
the first time, you should listen carefully for its general idea. Then listen to the passage
again. When the passage is read for the second time, you are required to fill in the blanks
numbered from Sl to S7 with the exact words you have just heard. For blanks numbered
Sfrom S8 to S10 you are required to fill in the missing information. You can either use the ex-
act words you have just heard or write down the main points in your own words. Finally,

when the passage is read for the third time, you should check what you have written .

Last (S1) at 9 o’ clock in the morning I left home to go to the shops. There
was not much in my shopping (S2) . I decided to drive to town by myself because
I find it is much (S3) to do your shopping on your (S4) and you
don’t have to (S5) any time doing what (S6) else wants to do. In
other words, you can just get on with it. On the other hand it does sometimes help to have
someone with you who can (87) you. Anyway, while I was in town this time
(S8) . I would have spent about an hour there but I did not

find anything that I really wanted to buy. After that I tried a dozen of shops to see if they had
any batteries (L1l1) in stock but they had sold out the size T wanted. (S9)

. but I was so fed up with shopping by this time that I forgot to get several of the
things I needed for dinner. By the time I got home, (S10) !

12



Test 4

Part A

Directions: In this section , you will hear 10 short conversations. At the end of each conversa-
tion , a question will be asked about what was said. Both the conversation and the question
will be spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D), and decide which is the best an-
swer. Then mark the corresponding letter on the Answer Sheet with a single line through the
centre.
Example: You will hear: M: Is it possible for you to work late, Miss Grey?

W: Work late? I suppose so, if you really think it’s necessary.

Q: Where do you think this conversation most probably took place?

You will read ; A) At the office.
B) In the waiting room.
C) At the airport.

D) in a restaurant.

From the conversation we know that the two were talking about some work they had to
finish in the evening. This is most likely to have taken place at the office. Therefore, A)
“At the office” is the best answer. You should choose LA] on the Answer Sheet and mark it

with a single line through the centre .

Sample Answer tA3[B] [C] [D]

1. A) It’s lunch time.
B) The woman has eaten her lunch.
C) Miss Wang has not come to work.
D) Miss Wang is ill.
2. A) He lost the letter.
B) He posted the letter.
C) He forgot to post the letter.
D) He didn’t know about the letter.
3. A) He is almost ready. '
B) He is already ready.
C) He is not ready.
D) He does not understand the woman.
4. A) The man was very quiet.

B) The man was trving to sleep.



